MepeyeHb OCHOBHbIX AeTaei U V3108 MHOrodYHKUMOHA/IbHOro 3aTOYHOro ctaHka M3C-03

YTBepKaato
TexHUYeCcKUit AnpeKTop
AHuceHkoB O.A.

« »

2013 .

HauyanbHUK TEXHMYECKOTO
oTaena:

MNetpos B.T.
NHXXeHep-KOHCTPYKTOP:

AxkoBeHKoB W.K.

M. HanmeHoBaHMe K. 18 | Onopa nesan 1
1 dnekTpowHyp L=2m; 2x0,75 | 1 19 | Konbuo npyXUHHOE 1
2 Ynop pesnHoBbIN 1 20 | MoawunnHKK 626 Z 1
3 MpepoxpaHuTenb 1 (6x19x6)

4 BbikntoyaTenb B cbope 21 | MnaTa weTtkogepatena | 1
4.1 | BbIKAtOYaATEND 1 22 | lMpyXunHa cneumanbHan 2
4.2 | HAKOHEYHUK 2 23 | UWeTKa (4x5.5x11) 2
5 Kpblwka Kopnyca 1 24 | WeTKogeprKaTenb 2
6 BuHT 3x10 camopes 2 25 | BuHT M3x6 2
7 MnaTa 1 26 | Waliba ctonopHan 6 2
8 BuHT 3x18 camopes 2 27 | Axkopb 1
9 BbikntouyaTens B cbope 28 | MOCTOAHHbIA MarHUT 1
9.1 | BbIKNtOYaTEND 1 29 | MNopwnnHuK 626 Z 1
9.2 | HAKOHEYHWK 2 (6x19x6)

10 | BuHT 3x10 camopes 4 30 | Onopa npaBas 1
11 | NMnacTnHa NpUKUMHaA 2 31 | BUHT cneumasnbHbIi 1
12 | Pbiyar BbiKOYaTeNs 1 M10x1,5 (neBas pe3bba)

13 | Nnatdopma 1 32 | 3aTouyHOM Kpyr 1
14 | BuHT 3x14.5 camopes 4 33 | MNMpoknagKa 1
15 | Ynop pe3nHoBbIi 1 34 | laiika M10x1,5 (nes. 1
16 | Apoccenb 1 pe3bba)

17 | BuHT M5x85 2




